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20243 Annual Letter

Year LOPEXE Y KOSPI
2020 (2020.12.03 ~) +3.1% +7.4%
2021 +18.5% +3.6%
2022 -17.8% -24.9%
2023 +29.8% +18.7%
2024 +13.3% -9.6%
£ (2020.12.03 ~ 2024.12.31) +47.4% -10.3%
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so the investing business is a forgiving business extremely forgiving business if you ran a a 10 stock
portfolio and you were wrong about half the stocks which is probably what you should expect would
happen about half the stocks what you expect is going to happen ... because of the asymmetry of the
way the investing business works with risk and reward you know an investor could would be extremely

successful and do extremely well even if they were were right one out of 10 times”

<EX: https,/ywww.youtube.com/watch?v=0qgxxVBKd8CI&t=677s>
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https://www.youtube.com/watch?v=0qxxVBKd8CI&t=677s
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“We will continue to experience considerable volatility in our annual results. That's assured by the
general volatility of the stock market by the concentration of our equity holdings in just a few companies,
and by certain business decisions we have made, most especially our move to commit large resources to
super-catastrophe insurance. We not only accept this volatility but welcome it: A tolerance for short-term

swings improves our long-term prospects. In baseball lingo, our performance yardstick is slugging

percentage, not batting average.”
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